Sunset Trading ITEM NO :

ASSEMBLY INSTRUCTION

GROUP NO : TREMONT PANEL BED

TR 900 QRL

TR 900 QHB / TR 900 QFB Description : QUEEN BED HB/ FB

QUEEN BED RAILS

Thank you for purchasing this quality product. Be sure to check all packing material
carefully for small parts which may loose inside the carton during shipment.

STEP 1

MADE IN MALAYSIA

NO:| DRAWING SIZE DESCRIPTION [QTY
A e M4 X 30 mm CBS.SCREW 6 pcs
B e—(0) M6 X 40 mm | JCBC. BOLT 12 pes
C | %= | M4X58mm |ALLEN WRENCH| 1pc
D ® M6 X 13mm | FLAT WASHER | 12 pes
E () M6 X 13mm | SPRING WASHER] 12 pcs




